2024F7H208 (£) 3E/METH 1R

& |[IR AES : 1350, 540, 340, 200, 13555
10:00 SHEE N N |a s 3:10.3 BB IFNE (BFE) 1 2 3 4 8 ’i }
~ Z;gﬂ:;ffl’/:;diﬁkj/ u;‘,:ftmmm 3:10.7 (B#ME) 19 25 19 32 23 34 23 30 |Grart 4
& 1815 = R ol & =k R E) BAfEHh 27B=L—2R& L—T4Y5 Y3R 3T IE 3B AR
7B & E % B F | KEAMMZLT|[B £ro12%] 5 2860m T - . 2, 3. 4MAEBIEL sﬁ =[E# - 3—2 - BHKE 1L 411951 F% Iﬁgﬁ)ﬁ/r_bﬂ) 3F (*ﬂh)
fo! 22 | B 2 |sdE5/FE|F  4EUT %‘ﬂ%z 2970miA | 6T B = L— R R—RFI3F - thff] - %3F (HEL. NFEH, SELY) BIEFEIF A4/ L 40—F—EARKGEL HEIFET --ZLEBRA LD
£ # | (BOR) o ME llE%ﬁmé Z2860% = |BIRK BRI T i 3000'"%1'- RS HiI3F - RS - #%3F(6~1) MIE=1EEXIF2EE (EZE) 1. 2. 3EEOME
a;f;;._%i BAvX| B & | 6 8AMM| # FLFER| gpraipy Ak BiaE 35ERT AFERT 57E AT
Pk 46 | 44 A :: |MET00.4 | HE&1.00.2 .07, N = =
= L o na :% 1002 2417333 13 g] a3 24.&6.7[{2 2 4m#2 [23.04. 01 60 203 | 23.02.04 0 TNAT [23.01.15 43 TINE2
ZY—H A IR = 7y > =7y | ERHK—R =7y T -7y | RESF E
1 R o 60.:0 .227| fr 60-60 BR#0.0.0.2 [ =F0.0.04 |5 58 3% 6A 9 1058 3&I0A 5 788 5% TA 11 1488 8%FI1IA 1 128 5% 1A
—YUTRI— F | ®iRAIE | /MR 31130 | 3R 0.0.0.0 | 3% KEEF | 478 -4 /IMRE 60 ©BE | 482 +2 FFHF 60 D@ | 480 +8 LiRfE 60 @DE® | 472 +2 LR 60 DO® | 470 -4 JLiRfE 60 DD
G7NI5D) ZHE 083 /hE 31136 [ EF0.0.0.2 | ik O | 3390m A R 3:52.1 13.7 | 3170m & B 3:40.4 13.9 | 3140m #A R3:33.7 13.6 | 3390m A R 3:52.1 13.7 | 2860m A #3:13.3 13.5
R CHTH) (%] | 1.0.1.15 | £ 0.0.0.4 | 2[1.009 | -§- - -©- 31.5 (12) 235 39.5 (17) 115 38.6 (13) 215 37.9 (14) 215 38.0 (5) 535
7}<#Eﬁ§ (¥R) 172975 | 15030580 | £ 0.0.1.6 | #4158 000 1| 7A3-7 41 v (4.5) k% M A-LG.T) Seskse | TIAAM (2. T) kK n-4"757(2.4) LS | A-MII-N(-0.2) HkE
DAY e K H5 54,.4 A [METT00 | BET100 240615 17 4RERS | 24.05.18 22 5 | 24.02.17 44 283 | 24.01.20 41 mxgs 23.12.28 40 SR #R9
HSyTHUE— %%;)z?),ﬁ 5 5 464-466 | R#F0.0.0.1 | =3 0.0.1.0 — -7y -T2 -7y | REF BE | KR REEF =
2 P1IN .0 .133| /T 60-60 R4 0.0.1.0 | =F0.0.0.2 | 5 13@10& AN s |7 145814% 6N K5 | 1 1288 9% 1A 4 2 118812% 2N x% 3 1488 3F/IIA
v B | %@ | /MR 31100 | h50.0.0.0 | 485 1HC | 466 -8 £ 60 OO | 474 +10 B 60 QDO | 464 -2 BE1E 60 QDD | 466 +8 BEMK 60 @DD | 458 +4 BEK 60 @DOD@
(F2TNANAIN FH 161 MR 31100 | EAF0.00.0 | ik OF | 3170m £ B 3:38.6 13.8  3290n 2B £ 3:38.7 13.3 | 2860m £B B 3:11.0 13.4 | 2860m ZA #3:38.6 13.5| 2070m 2 B 3:21.3 13.6
KE BE@OLENE (%] 22416 | £ 0001 | 2ELLL2| -6 - 38.6 (9) 345 39.0 (1) 245 .6 (5) 535 .5 (5) 545 39.0 (1) 435
fi =) 30427 | #%25:0%£0i80 | £F 1.1.3.14 q:g 0000 | 53E7hhy% (0.9) SERE [ 487597 4(1.5) IS | 9 7byshR v (-1.3) BEES | A4 9wk (0.1)  SEskak | b vhen(0.3) piirin
ZF 6 | 53 CA T A[NE0.0.04 [HE0.00.T [24.06.29 53 2f@E1 | 24.06.02 22 AER2 | 24.02.17 38 2INE3 | 240127 128 1/N@ES | 24.01.08 60, T3
FATLAYTE ERAMH | 5§ 498-498 | W& 0.0.0.1 [ =R 1.0.1.2 —Jv 17y -7 17y -7 =7y | & PaY 17" P =7y
3 EX DN s §0£ .059| Fr 59-59 rxﬁﬁ 0.0.0.1 | =F0.0.27 |7 14g812&10N 4% 6 1088 2%& 9N W 6 1388 S5&I11A 11 1438 7&12A 9 1288 5% OA
1a—KKys L AEES MR 3084@ | B 0.0.1.0 | 48 1HEC [ 508 -14 BATK 60 M@® | 522 +34 AATA 60 G®@D | 488 -6 HATA 60 @B®® | 494 0 MAIA 59  @@M| 494 0 BHA 60 DDD
a7 X BL | ¥ 152 /M 3084@ | EA0.0.00 | ok OFE | 2750m ZA R 2:50.8 13.1|3170m £ B 3:37.7 13.7 | 3390m B B 3:47.6 13.4 3390m ZA £ 2:59.8 13.5 | 3200m 2 B 3:38.6 13.7
SAEKSFOLLE)  [E] ] 21.3.20 | £00.1.4 | 2@10310[ -0 -0 31.5 (10) 235 39.5 (5) 455 38.6 (13) 215 40.6 (16) 115 40.8 (11) 235
'r'g Ei% 3355.275 | #15£02080 | £ 1.1.0.10) 528 1016 | 9 4% 240 (1.5) FEL | M -{-L01.0) sekse | A-M 0wk (1.9)  Seskdk | AT -(4.5) it 2 (3.3) Sk
FLo+> HA|5T & A: . . [ME000T | LH000T 240627 58 [EmE [24033034 203 | 24.03.02 271 23.12.28 40 SHRT9 | 23.11.18 @B
ISP IA=| MEFEA | 450-462 | m#0.0.0.0 | ZA1.0.0.1 | J RAKR UL | =ARK—R -7y —Jv =7y | REEF BE F B
+ /P i(_).o .071| Fr 58-58 B 1.0.0.1 [ =F0.1.0.1 |5 98 6% 3N 10 11ZE 1BIOA &M [ 11 1288 7% 4N 1 1488108 5A 10 1438 4% 20
Lhoossvuy R | BOKH | /G4 31390 | 30.0.0.0 | 3% 1HC [ 458 -6 kBFE 54 DO | 464 0 hitiF 59 ©O@| 464 +2 1FF 59 @O® | 462 +2 NFF 58 D] 460 +10 FiRfE 58 @2®
F4—TAYF) s . 155| /Mg 31390 | EF0.0.0.0 | ik OF | 1400m 4 B 1:32.6 39.4 | 3140m B E 3:36.5 13.8 | 2860m 2B #3:13.9 13.6 [ 2970m % B 1:32.6 13.5| 2770m B #43:11.3 13.8
Jkﬁ FAGFOENED) D] 221.8 | |28 ] e MHH 39.4-38.0 (8) 332 39.4 (14) 125 39.0 (13) 155 39.0 (5) 545 39.3 (13) 215
LEV-R G%) _ 152075 | #05£2:0i80 | £F 1.1.1.5 [ 2@ 001 0| M uhh /(1.8) S | AW 9 (6.4) SRk | 171349 (3.6) S | A-M9-wb (-0.3) SESEsk | W9 INT 4 (4.8) EES
FA—TAUINT R HT ] F: o | E0.1.0.0 | ZBE0.1.00 | 2405, 18 [ 1%im7 | 24.03.24 38 32 | 24.01,28 39 TIE6 | 23.12.28 39 SfR#9 | 23.08.06 & 1ALB6
J7I)a=F A B 472-474 | #$0.0.0.0 [ Zh1.0.0.1 | A— 17y | REEF] EE | REEF BE | REEF BE | T LS el
50500 | moee 60.0 .219| & 60-60 BR#0.0.0.1 [ =F0.001 |11 1455 2& 2N W 1 128128 1A K4 | 2 12 1E 2N ®BM |5 148 9% 3A 14 1438 2&14N &
YE—F B | MEE—ED | /NEL 3109Q) | th50.0.0.0 |63 G 111|480 +8 MR 60 @OWM| 472 -2 BME 60 ODD [ 474 +6 BHZE 60 DDD| 468 -2 H#IE 60 DOE | 470 -2 HAE 58 OOW®
(Hawkiling) %% 183 /MR 31002 | E0.0.0.0 | ik OF | 3290m £B £3:39.9 13.4 | 2880m = B 3:10.8 13.3 | 2860m A E3:10.9 13.3 | 2970m 2 B 3:39.9 13.6 | 1700m & T 1:45.5 38.5
H&I7-4 (F ) (%] | 7.5.5.11 | | Emo e ) 39.0 (14) 145 39.2 (5) 535 38.9 (5) 535 39.0 (8) 435 |HHH 29.6-36.3 (9) 321
(H) #.t::. V=22 21204. 775 | #%2520%0:80 | £F 6.4.5.9 | 4w 2 03 6 | 4°59 ¢ (2.7) A | VI MEIM(0.7) kS | 9 7Y7AF(0. 1) Seksk | b vann(0.7) S [ +4792.7) ERE
J—ILRI—X 3752 B o [AEI00T [ ZE&I1.00.1 [ 2405 13 -2 %R | 24.0420 15 17885 | 24.02.04 42 111\23 24.07.07 38 TRL2 | 23.12.17 39 581116
TJ—IL KR —JL MEMEK | 5 488-490 | #B0.0.0.0 | =R 0.2.2.0 | A — 17y -7 -7y | REF = | kBRI BE | REF fE
N ¢ . 60.0 .295| Fr 60-60 B&ﬁ 0.0.0.0 | =F0.0.0.2 | 13 145 3FIA 7 1188 3% 4N 1 1288 6% 1A 3 1458 3& 1A 2 138811& 2N 4}
TE-LIA L LRI INE 3106@ | 5 0.0.0.0 | 63 3MC | 492 0 NEF 60 @@DE)| 492 +2 FLEHK 60 @D | 490 +2 /Mg 60 DD | 488 0 M 60 @@@ | 488 0 M 60 BADEB
(FIHRRFOEN) FH .129| /MR 3106@ | AR 1.1.0.0 | huk OF | 3290m #B B 3:40.8 13.4 | 3380m =B B 3:45.9 13.4 | 2860m A T 3:14.1 13.6 | 2880m = B 3:40.8 13.4 | 2880m ¥ B 3:12.7 13.4
ZUBHIS (ASTHD) (5] | 4.4.4.20 | | Emr223 e 390 (10) 325 38.9 (13) 155 39.2 (5) 535 39.9 (9) 515 40.2 (10) 335
() =Bk 7017.8% | 5#04:320580 | £ 3.2.2.17| tmir 0 1.0 8 | 47" 39" 4(3.6) HEF | $92A1-2(2. 1) & | 240091 (0. 1) Sk | E 97 50 y(0.0)  SEdksE | 171340 (0.2) #Ek
hv*fal?—u— HT | 04 [AETOT? T 1.0.1.2 [24.05.18 13 18R | 24.03 02 50 2NET | 24.02.10 70 2/hET | 23.09.16 79 4fR#3 [23.07.01 56 A
= EILR S EgUE | 5 450450 | #0.0.0.0 | ZR0.0.1.1 | A =T -7y -7 17y -7y =7 | BR#Sr Y GI11 -7 17
2 5 o 60.0 .069| T 60-60 BR##0.0.0.1 [ =F0.006 |9  14EHI0EIIA 7 128E10% 3N 4+ |4 128ENFE SN KRS |5 1488 3FIOA 4 1288 6F TA
S- E | BAEE [ /MR 30900 | 3 0.0.0.0 | 55 18C | 454 -6 FH LB 60 ©O® | 460 +2 BHE 57 @BQ) | 458 0 BEE 57 ©O@D@ [ 458 0 KM 60 @DO® [ 458 -6 HIKE 60 Q©DO@
(WithApproval) RH 136 MR 30000 | E0.00.0 |k OF |3290m £B £3:39.5 13.3 | 2860m 2B #43:13.0 13.5 | 2860m £B £13:10.8 13.3 | 3140m ZA £3:39.5 13.3 | 2750m A #3:00.8 13.1
chh R GiATET) (%] ] 21.3.26 | 1.0.1.1 | 2EE1.029 | -« -0 - L 39.0 (1) 225 39.0 (8) 435 38.4 (1) 435 38.3 (13) 225 38.1 (10) 235
HE %5 402375 | 0% 1%0:80 | £F 1. 1.1.17[ %mir 0129 | 44°59" 4(2.3) MK |17 234 2. 7) %Sk | 7597 4(0.6) SEHSE | ¥ a-n0y74(3.5) Kk [ ¥ avhvA 1) HFEE
Toovd ) rEx TA6 B[ [1A0000 Z3%0.0.0.0 | 24.06.15 -4 4 ER5 | 24.01.08 48 TeRL3 [ 231210 38 SeaL4 | 23.11.19 36 37886 | 23.10.09 33 4R=3
mSTHR Bt | & 458-458 | B#F0.0.0.1 | ZA1.0.1.0 [ A—T> =7y | HLHED T , S F BE | REF BE | REF ]
2l ’ d | 80.0 151} 7 60-60 BR#0.0.0.0 | =F0.0.0.3 | 11 138A1BISA s |12 1288128 TA 1 1488 3% 1A 3 1488 7F 3A 6 1288 4% TA
erj{ = & | PHEHR .0.0.0 | 55 1B5C | 470 +14 /MR 60 @®@aD | 456 -2 :MTH 60 @OO 458 +2 EMTH 60 @B | 456 -4 HFF 60 @D | 460 +10 4T 60 ®DD
(it Livernore) F® 122 .0.0.0 | ehuk OE | 3170m 2 B 3:40.2 13.9 | 3200m 2 B 3:39.7 13.7 | 2880m 2 B 3:14.4 13.5| 2770m B R 3:40.2 13.5 | 3000m = #§ 3:31.5 14.1
t;.@Lﬁ—ﬁﬁi) (%] [ 2.3.220 | £0.0.0.1 | £M1.0.1.3 [ - @ - 38.6 (13) 135 40.8 (14) 135 40.5 (9) 415 40.5 (1) 435 38.4 (14) 155
HH R 284075 | 05120580 | £F 1.3.1.17] B4i@ 00 0 0 | J7ETHLY4 (2. 5) SRE |17 UTAR (4.4 FEE |97 Iunv(-0.2) KEM | 1{hr)-(0.6) e [ A h4.4) SRk
T/ —%7 6|89 B OA: :: |MBEO0.1.23 | L0122 [24.05.11 95 3mES] | 23.09.23 32 4eRIL6 [ 23.07. 15 27285 [23.05.13 104 Tm&7 | 23.03.25 20 2T
AL ITYLE BRI | 55 486-490 | #00.0.0.2 | ZA1.0.1.5 | FERNA D [V P DA 7'y =7y | mERANA D Gl |A—T > -7y
8(9]0 | nonmy e 60.0 ,goo Fr 60-60 #0002 [ =F000.6 |4 — 108810 8A K#h |9 1388 0F 8A q:u-_ 135El1§ 4N s |4 1138 8BIOA 4 |5 1378 9% 6A
SHLG 4= 2 | BESER | /1E 3100Q | h30.0.0.0 | 38 18C | 508 +4 H—F 60 ®O® | 504 +10 KA 60 @M | 494 -6 KM 60 GD® | 500 +4 KM 60 496 -6 KM 60 MDD
@eputylinister) R® 165 1B 31000 | EF0.1.0.2 | chuk 1E | 3930m £B R4:33.2 13.9  3210m G 7§ 3:45.1 14.0 | 3380m £B i§ 3930m 2B £4:33.2 14.0| 3110m = #§ 3:32.5 13.7
£ 9hai-7 (R THT) [£]] 21,318 [F0.1.1.1 | &ML1L313] - v v 39.9 (14) 135 39.7 (18) 145 39.7 .5 (9) 345 38.0 (8) 255
K SFH 3993% ;umio;ao £F1.005 [ o 0006|474t 22.2) Sk | 7 WAy -h(5.7)  BkER SEE |5 40-1"-(0.8) FkE | MmO (.2) Sk
)l«*?*:/'yj 6 | 32 NE0.0.0.0 | B 0.0.0.0 [24.03.31 36 3chL4 | 24.03.10 40 20006 | 23.07.02  F 3hm2 | 23.05.14 5B 1m#h8 | 23.04.29  F 1m#hs
JISEL 5K & 452462 | 20000 ZR11.00 ] BE | REER wE | BEER W97 | 2BV TR KR 2R
810 A ruTsax .0 .389| Fr 60-60 rs&ﬁo 0.0.0 | =F0.0.0.0 1 1188118 3N K4t | 2 988 3& TA 10 168E12FE 1A 8 145E12&11TN 5 7 168816% 9N K4
ikt 25 | #58 5 0.0.0.0 [ 58 28C 4620 H—5K 60 @D | 462 +2 F—F 60 ©@DD | 460 -4 SHIL 58 ©O() | 464 +4 /ME#E 58 460 -4 HMAE 54 DDE
<ﬂ-\g'z7»f 2 XL ZF® 093 EFR0.00.0 | chik O |2880m % B 3:14.4 13.5|2880m ¥ # 3:15.7 13.6 | 1800m 4 #§ 1:54.9 40.8 | 1800m 4 % 3:14.4 39.7 | 1800m &% B 1:54.1 37.7
J(%q;:(ff{?ﬁ ) 1| 31111 | | EELLe0 305 (5) 535 | 437 (14) 215 |MNS 36.4-30.3 (10) 232 | MMM 37.6-37.6 (8) 341 | MMM 37.4-37.5 (8) 423
- 4YY R 28787 | #05220i80 | £F 2. 0.1 11| v 01 0 3 | 539 b4b(-0.6) S5k | 7 Y19 - (2.5)  #k3EsE | Wh7hIR(2.3) HAEE | 407 /123-bQ2.7) Sk | Myavtde 0.7) kEE
INEZ2860mAE B AR (SRETHAR : 2022.07.18~2024.07.17)
llL?fﬁ 4__;%;1%% WEESH 1% 2% 3/ M B R
23 6 2 5 10 0.261 0.348
2 Fa4—FA28 b 37 4 10 4 19 0.108 0.378
3 N—Eviy— 13 4 0 1 8 0.308 0.308
4 TrREY A 9 2 3 0 4 0.222 0.556
5 Sa—hTF—/ 5 2 0 0 3 0. 400 0. 400
6 29 1 3 6 19 0.034 0.138
7 19 1 2 3 13 0.053 0.158
8 9 1 2 0 6 0.111 0.333
9 1 1 1 2 7 0.091 0.182
10 6 1 1 1 3 0.167 0.333
R . . BLEHIIH. YADRKERL, HERH, BFERLGLE, INTERERTOHEREBALTTFEL
—_F H-P-Y 3 °
2024%7A208 (1) SEVMNAETE R 4SHREEIMRUL +—T> (BE) BIE 2860m %= AN DOER, ERELLET.




